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A discussion about the gradual increase of distance between peaks of the

Ip-V curve of Frank-Hertz Experiment
ABSTRACT: In the Franck—Hertz experiment, the distance between peaks of the Ip-V curve
increases gradually.We estimated the density of electrons and Hg atoms and, based on the calculation,
concluded that the increase of peak distance might contributes to different excitation levels of Hg
added together. We simulated the process by adding curves analogy to the differential curve together
to support our conclusion.
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